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13 14 15 16 17
2001 2002 2003 2004 2005

102,073 99,759|  126,278| 132,509| 145,496
89,195 86,140 82,335 76,164 59,273
61,246 62,131 48,720 37,261 39,504
62,728 63,962 60,444 55,373 54,481
30,581 34,707 31,831 28,329 27,400
345,823 | 346,699| 349,608| 329,636| 326,154
947 950 955 903 894
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17 25 36
2005 2013 2024

326,154 222,868 219,201
894 611 601
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AL A2 A3 Ad A5 A6
0.016 | 0.015 | 0.018 | 0.013 | 0.011 | 0.012 | 0.1
PP 0.008 | 0.005 | 0.008 | 0.006 | 0.004 | 0.006 |0.04
0.04
oo 0.03 | 0.021 | 0.029 | 0.025 | 0.035 | 0.028 0.06
0.098 | 0.118 | 0.091 | 0.093 | 0.088 | 0.084 |0.20
3
ng/m 0.051 | 0.046 | 0.053 | 0.054 | 0.044 | 0.051 |0.10
ppm) 0.00011 | 0.00023 | 0.00015 | 0.00016 | 0.00017 | 0.00016 | 0.02
0g-TEQ/NE 0.048 | 0.16 0.06 | 029 | 0.5 | 0.06 | 0.6

A2
ppm) 0.08 0.06
ppm 0.12 0.20 0.31
mg/m 0.00136 0.003
mg/m? <0.00001 0.2
mg/m® 0.00021 0.2
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0.00033ppm

(ppm) 0.00033 | 0.001 | 0.00133 | 0.004 | 0.04
(ppm) 0.00061 | 0.014 | 0.01461 | o0.030 | ©-04 0-08
( /™| 0.00040 | 0.021 | 0.02140 | 0.053 | 0.10

(ppm) 0.0012 | 0.00017 | 0.00137 0.02

(o-TEU/®) | 0.0020 | 0.13 | 0.132 0.6

2 98
52 6 16 136
ppm
98

0.04
0.0012| 0.014 0.0152 0.03 0.06
0.04
0.0019| 0.014 0.0159 0.031 0.0

0.8km 1.3km
(ppm)
0.0002
0.0001
0.00005
0.00002
0.00001 N
1:100,000
0 1 2km
Er—t——
98
0.04
ppm 0.00034 0.0041 0.014 0.0184 0.036 |0.06
2%
0.00008 0.00106 0.021 0.0221 0.051 | 0.10
mg/m3
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N4 13,16,17

N1 3,14,15
13,6 11,13,16,17

0.031 0.035ppm 0.04 0.06ppm
98%
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dB

dB
25
N4 45 45 45
N5 37 37 38
N8 46 46 46
N9 37 37 37
N10 39 40 40
N11 31 31 32 55
N12 47 47 48
N13 42 42 43
N15 30 41 41
N16 37 37 39
N17 37 37 37
<10
<10
<10 13
<10

25
N4 35 35 35
N5 30 30 31
N8 42 42 43
N9 32 32 33
N10 35 36 36
N11 <30 31 33 55
N12 35 36 36
N13 33 33 34
N15 30 38 38
N16 31 31 37
N17 32 32 33
SS
mg/? mé/h mg/? mé/h mg/? mg/?
" 66 |5,880| 154 | 3.15 |66.05 0.1
m/h 2.8km? 3mm/h - x 0.7 x 1000
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pg-TEQ/g

27

Fsl 15
Fs2 28
Fs3 12 1,000
Fs4 10
Fs5 57
Asl 58
As2 21

1,000
As3 56
As4 59

TEQ/
9 Q/g
El 3.3
E2 3.2
E3 3.7
E4 0.48
E5 2 1,000
E6 4.6
E7 68
E8 1.5
E9 0.78
E10 1.4
g
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500 t

1,860 *

6,200 ™

1,600 m

720 m

9,600 n

280 t

650 t

79,000

310 t

40 t

39 v/

5.4 v

14.3 v

kiwh/

kg-C0,/

kg-C0,/

30 v/

5.4 v

36,696,000

13,871,088

13,871,088

9 v
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13 17
20%
o
15.4% L
15% o H
10%
7.0
5% 3.7%) 350 T
b t| 28 b9 o
RS o
10.10.1% .D.Il. .20.38.3% 0-6%. 44 29493
0% = iy

1 13 17
13 17
20% T
o
15.4% L
15% o -1
089804
10%
7£“ﬂ
S o 5.0%) -58.3%
5% S M0 o -
3.2%
h.o%-3% 2.14
o 0091604 I_Iﬂll .4%'1#'3% 0.29-68_ 3| 0.50-60.5
20
1 2 ()
oo 0.00033 | 0.00062 | 0.0007 | 0.001 | 0.0027 | 0.006 | %%
0.04
oo 0.00061 | 0.00026 | 0.0005 | 0.014 | 0.015 | 0.030 | 0.06
| 0-0004 | 0.00062 0.021 | 0.022 | 0.084 | 010
.
oo 0.0012 | 0.00019 0.00016 | 0.0016 0-02
0.002 | 0.00062 0.13 0.13 0.6
(pg-TEQ/m)

21



